=
1.5imESEEE=IRE

ERTEE: DER RS M (R )

s
o 9

EmHE- BaTHRE
:--ﬂhmﬂlm. e ol
{rmm} |r|1r|1]

TfREM- CIEREEECi<30s) : -30 "C-120

< EHERMEEER"C: -10 "C-T0"C

ERiER: CATESTELAREEE. AEMEEEE. 22N
T R i R AR RN
GRRA.SHTIRSIEN. RiRIFIEE T

IREFRFRD, BELHEENPRREE

DT-VC1.5M60-22 4.0
DT-VC1 SM60-30 220 330 3000 13.0 L1}
40.0 40
DT-VC1.5M60-40 80 59.0 36.0 330 T.0
DT-VC1.5M60-50 530 B7.0 55.0 520 11.5 5000
DT-WC1.5ME0-60 B2D 130.0 82.0 7o 24.0 650
DT-VC1.5M60-80 135.0 221.0 145.0 140.0 56.0 75.0 6.0
DT-VC1.5M60-100  190.0 3570 220.0 214.0 95 90.0
DT-VC1.5M60-125  250.0 558.0 520 335.0 191.0 140.0 9.0

+ PENERERET. aERETESEER,

el

=X

“ IGIREERE  AGHHMERED) mmmmm
]

DT-WC1.5N60-22-02-AG Gl/4 164
DT-VC1.5M60-22-02-16 Gl/4 ! 25.0
DT-VC1.5N60-22-03-1G Gi/8 ! 240 420 12.0 58 220
DT-VC1.5M60-22-M10X1.5-AG ! M10X1.E
2o 16.0
DT-VE1.5NE0-22-M14X1.5-AG i M14X1.5
DT-VE1.5M60-30-02-AG f G174 izo
17.0
OT-VC1.5M60-30-02-1G G/ ! 280
DT-VC1.5M60-30-03-1G Gi/E Il 32,0 45.0 120 9.0 220
DT-VC1.5N60-30-M10X1.5-AG f) M10X1.5
izn 17.0
DT-VC1.5N60-30-M14X1.5-AG ; M14X15
DT-VE1.5N60-40-02-AG ) Gl1/4 ire
17.0
DT-VC1ENE0-40-02-16 G1/4 ! 288
DT-VC1.5N60-40-03-16 G/8 / 420 45.8 12.0 10.0 220
DT-VC1.5N60-40-M10X1.5-AG ! MI0X1.5
12B 17.0
DT-VC1.5NE0-40-M14X1.5-AG i M14X1.5
DT-VC1.5N60-50-02-AG ! Gl/4 10.0
40,9
DT-VC1.5M60-50-02-1G Gl/4 ! 12,0
DT-VC1.5NED-50-03-16 G/ Il 520 I68 15.0 115
BT-VE1.5NE0-50-M10X1.5-AG ' M10X1.5
409 12.0
DT-VC1.5N60-50-M14X1.5-AG i M14X1.5
DT-VC1.5N60-60-02-AG I G1/4 10.0
45.3
DT-VC1.5N60-60-02-1G G1/4 ! 120
DT-VC1.5N60-60-03-1G G/ ! 63.0 4.3 15.0 14.5 220
DT-VE1.5NE0-60-M10X1.5-AG ! M10X1.5
45.3 120
DOT-VC1.5MED-60-0M14X1.5. A6 / M14X15
DT-VC1.5M60-80-02-AG / Gi/4 10.0
530
DT-VC1.5M60-B0-02-1G G4 / 120
DT-VC1.5N60-80-03-1G G3/B i 83.0 49.9 15.0 221
DT-VC1.5N60-80-M10X1.5-AG ! MI10X1.5
539 120
DT-VE1.5N60-80-M14X1.5-AG ! M14X1.5
DT-VE1SNED-100-02- A6 ! G174 10.0
B0LE
DT.VEC1 SNE0-100.02.16 Gl/4 ! 12.0
DT-VC1.5N60-100-03.1G G1/8 / 103.0 56.5 15.0 258
DT-VC1.5N60-100-M10X1.5-AG ! M10X1.5
B0 12.0
DT-VC4.5NE0-100-M14X1.5-AG ! M14X1.5
'| BTl
1.5 EE e
DT-VC1 5HE0-125-02-AG Gl/a
718
DT-VC1.5M60-125-02-1G G104 ! 120
DT-VC1.5H60-125-03-1G G3/8 ! 128.0 BT.8 150 320 220
DT-WC1.5M60-125-M10X1.5-AG ! M10K1.5
71.8 120
DT-VC1.5N60-125-M14X1.5-AG ! M14%1.5
+ W=BEEN:

60: EDDurometer, FRRAFELE



